
 

 «عبارات جبری )اتحاد و تجزیه(» چهارمدرس  سهفصل  6كاربرگ

 .های زیر را بنویسید حاصل عبارت -1

(1 (x y )3 2 23    

(2 (x y ) 2 22 1  

(3 ( ) 22 2 5   

(4 (x y )(x y ) 2 25 5  

(5 (x )(x )(x )  23 3 5  

(6 (x y)2 33  

(7 (x ) (x ) 2 21 1  

(8 (x ) (x ) 3 32 2  

(9 (x y)(x y) 2 2 3  

(11 (a )(a a )(a a )    2 6 31 1 1  

(11 ( ) 35 2  

(12 (a )(a )(a )(a a )    3 6 21 1 1 1  

(13 (x )(x x )(x x )    2 2 21 1 1  

(14 ( x / )( x / x / )  26 0 1 36 0 6 0 01  

 های زیر را تجسیه کنید. عبارت -2

x x22 12 (1 

x xy y 2 24 4 (2 

x x 2 6 9 (3 

x y2 216 (4 



 

x /22 0 01 (5 

x x 2 7 6 (6 

x x 4 25 4 (7 

x x x  3 29 27 27 (8 

x x y xy y  3 2 2 36 12 8 (9 

y 364 (11 

x 3 8 (11 

x y6 6 (12 

x 38 125 (13 

x xy4 327(14 

x x 2 7 12 (15 

x (y ) x(y )  3 2 26 7 9 7 (16 

C ( C) C(C ) ( C)    2 1 1 5 1 (17 

x x x  3 22 3 6 (18 

xy y x  2 2 (19 

x x x  3 23 12 5 20 (21 

x xy y xy  2 24 24 6 (21 

xy x y y  210 6 5 3 (22 

y y 24 44 121 (23 

x m x m ax 3 2 3 314 4 (24 

a b2 28 2 (25 

x 327
1

64
 (26 



 

b b5 216 686 (27 

x y x y  3 3 2 2 (28 

y xy x 2 26 8 (29 

x x 26 5 1 (31 

x x 24 9 2 (31 

x x 22 7 6 (32 

y y 28 13 6 (33 

a a a  3 26 12 8 (34 

a a a  3 227 125 135 225 (35 

x x  2 8 15 (36 

x x 4 24 3 (37 


